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Chose the correct answer for the following questions:

Q1:5.2x10% electrons pass a specific point of
a uniform conductor during 120 s, what is the
current represented by this charge?

Joge o Ao dads 098] 5.2x10%° axy :Q1
oda Lt (&l Ll Bus L 120 5 I plawe
el

A.1AA

C.0.82A

B.1.2A

D.0.69 A

Q2: A current-of 0.500 A flows in a wire for
650. s. How much charge passes through any
point in this wire during this time?

bial ¢l (3 0.500 A'duids SbyeS o@dan Q2
o pe dad 6l I35 a5 (@) i) 4aS 10 .650. 5
eyl 8 a0l ods I3 el

A.325C

€. 178/C

B.221

D. 166 C

Q3: Determine the current flowing through a
conductor at t=2 s if the charge flow is given
by q(t)=(8t2+4t-2)C

e Juoge Dl @oun il Hlal ded du> :Q3
o s dadiall diseid] O Cale 13] t=2 5 dlaxll
q(t)=(8t24+4t-2)C dslaall Tadg ye3ll

A 21 A

C.36A

B.27 A

D.45A

Q4: A current flows through a conductor is
given by i(t) = (2t?+5) A, how much charge
passes through a point of this conductor
during the interval t=0Osto t= 2 s?

sbaall Tady Jroge I JLyeS s 3oz :Q4
s (g0 dlais pas (o1 Aol oS e 6i(t) = (2£245) A
Ct= 25 JIt=0 s oo dus3ll BAall SN Lo gall

A.16.5C

C.14.4C

B 153C

0. 13.6 ¢

Q5: Determine the current equation that
flowing through a conductor if the charge
flow is given by q(t)=(2t?-5t)C

B ese M @daw Al Hladl dolas su> :Q5
Joleald ’Ui_éj L')'”_}‘H c.oj}.a:\.': dgdusal) diseid! Oi Cwalse
q(t)=(22-5t)C

A. i=4t%-5

C. i=4t-5

B. i=2t -5t

D. i=2t-5

Q6: Which of the following equivalents the
unit of the electric current?

T LSl Ll olid By 350 o Lo (5T:Q6

AslL

CG st

B. C.s

D.Cs?

ax| o ol e




Q7: Which ‘of the fellowing is correct about
the conventional direction of the current?

oLVl 3lay laxd Ao AW Shlaadl 00 5T:Q7
T ALyeS HLal] (2aso)l

A. In the same direction of electrons flow

8311 (3 g ASIYI (83U5 olos] uds (8 550 A

B. In the opposite direction of the electriec
field that causes the charges flow.

S QLS Jlal) GuSlaall 0la3N (8 055, B
Sloedd] 3805

C. Has the same direction of the current
density.

BLyeSII )Ll ABLS olassl ud (3 01655 .C

D. Always from thenegative to the positive
terminals of the battery

L_..A_?}Aﬂ L,..l:a.ﬁ_” JlL_AJLw..” L_A.L::.U! G A==y Log.) .D
4y lad)

Q8: A light bulb is connected to a battery, the
bulb starts working, if we reverse the polarity
of the battery, how does the brightness of the
bulb change?

Tl ooy « bylap L5681 Zhne o g3 o2 208
At 83 ¢ Lllad) dudad buSe 13] ¢ Joadl 3
Sl ks

A. The bulb will stop working

Jasll o zluaall Calgrw A

B. The brightness will increase

CW! delo] daAw .B

C. The brightness will decrease

laal Belp| Jise .C

D. The brightness will not change

Zlaall 8els| adss o) .D

Q9: Two identical bulbs are connected in
series, how does the brightness of one of
them change if the other is removed from the
circuit ?

belp] pss aS (Jlsdl de luas oy Q9
TABL,eSII 8,511 ey 31 T 13] La ]

o9

—_—
A. It will not change A5 o) A
B. It will decrease Jasiw B
C. Itwill increase M3Fw .C

D. The remaining lamp will stop working

Jasdl o8 i Zloaall il giw D

ax| o ol e




Q10: A current of 2.3 A is flowing through a
cylindrical conductor has a diameterof 1.5cm
what is the current density in this eeanductor?

Alehul Juoge M= 2.3 A G HL5 3daw Q10
S o gall i @JW! BLS L ¢1.5cm 0y lad

A 1.3510% Afm?

€. 1. 7x10" Afme

B. 3.3x10* A/m?

D. 4.9x10* A/m?

Q11: A current flows through two conductors
connected in series, the radius of the first
conductor is equal half of the second one

13) «dleddl de imbgis coge I HLE ey :Q11
dosd Linad (Soluy JoMI Loaall 388 caiai Bl caale
@GS A (2 L3 r1=0.5 1y QI Juogall Jhad Cavai

r=0.5 r, what is the ratio of their current CJ1/)z g SO
density J1/J27?
{ i .
s v
A. J1/15=2 C. Ji/)=4
B. Ji/)o=1/2 D. Ji/)=1/4

Q12: A current with density of 250 A/m? is
flowing through a wire with 1.5%x10 ® m? cross-
sectional area, what is the amount of charge
that passes through a specific point of this
wire during 20 s?

Juoge el D= 250 A/m? adtS jLs 3o Q12
75 (@ Boadl &S b 1.5%10° m? aakaie dolue
$20 5 UM ! 10 4o Bouses dlaits

A: 7.5%10°(C

C. 2.6%10° €

B. 4.2x107 C

D. 3.8x10° C

Q13: Acopper wire of length 250 m is needed
to provide a resistance of 1.5 Q, what is the
radius of the wire suitable for this mission?
(Copper resistivity = 1.72x10° Q.m)

Ceoo 250 M Jgbo (gwlas el plusaul ol Q13
Sl Jhad cami b 1.5 Q bylade deslie ybg
Jolas pulonil) duc o) dogliall) Taagall oiig) (ousliall

(1.72x10° Q.m

A.1.25 mm

C.2.41 mm

B. 0.91 mm

D. 0.96 mm

Q14: A potential difference of 12 Vis applied
across a conductor of 0.5 S conductance.
How much current will flow through the
conductor?

Joge ok w12V oyldie ugadl (§ 3,8 34y 1Q14
q,_}.,a_g.n.” BY-3 6)@1)@1)1.1.5‘0 L 05S 4154033

A 24 A

C.12A

B.6A

D.3A
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Q15: A 120 V/m electric field is applied
between the terminals of a conductor by a
battery, A current with 7.4x10° A/m? density
flows through the conductor. Whatis the
conductivity of this conductor?

@b op 120 V/m &us LyeS e 3day :Q15
GALS )5 hogall @ @8 dyllay daulyy Juog
ool 1in ddings (2 b .7.4x10° A/m?

Battery

A. 1.7x107 (Q.m)?

C. 3.4x107 (Q.m}2

B. 8.5x107 (Q.m)*

D. 6.2x107 (Q.m)!

Q16: How does the resistance of a cylindrical
wire change if its length is doubled?

caclas 13] (lghhw! ¢lle deglas ass Cas :Q16
PN

A. It will increase by a factor of 2

2 Jolaas dd7w (A

B. It will increase by a factor of 4

4 Jolaas 337 B

C. It will decrease by a factor of 2

2 Jolaios Jiasw .C

D. It will not change

i o)

Q17: How does the resistance of a cylindrical
wire change if its length decreases to a
quarter of what it was without a change in its
cross sectional area?

ol arsl 3] lshawl Gl doglie s aS:Q17

A. It will increase by a factor of 4

4 Jolaas dlaw A

B. It will decrease by a factor of 2 2 Jolios Janw .B
C. It will decrease by a factor of 4 4 Jobos Jisw .C
D. It will not change S o) .D

Q18: How does the resistance of a cylindrical
wire change if its radius is reduced to half of
what it was?

anas jad! 13] 3lglawl Wl doglie pass (aS :Q18
Caude O L Cayas U] 0,)ad

A. It will increase by a factor of 4

4 Jolaas Slaiw A

B. It will increase by a factor of 16

16 d.obuu slarfw .B

C. It will-decrease by-afactor of 4 4 Jelres Ji5w .C
D. It will not change ds o) .D
5
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Q19: A copper wire is intended to be used to
provide a resistance of 2.0 Q If you know that
the radius of the wire used is 0.1 mm, what
length should the wire be?

(Copper resistivity = 1.72x10° Q.m)

dasglio )933 Casy L_gwbe.i Sl ﬁLl:ie.‘i.M 3l Q19
Glladl L8 s O cwle BB 2.0 QO byad
3550 Of o Gl Jsbll Ld 0.1 mm adsuus|
¢ el dde

(1.72x108 Q.m Jolss Leloud) die gl Lo glanll)

A.3.7m

C.360m

B.4.8 m

D.240 m

Q20: The electromotive force (emf) is an:

;o (emf) 450 ¢Sl dxslull 344l :Q20

A. Flectric force vector.

450,8J) 848l dxie LA

B. Electric force magnitude

350,801 561 8all ,ldde B

C. Electric field vector

AL,eSI Jrall dxie .C

D. None are correct

e e Y D

Q21: Which of the following is correct about
the batteries:

A. Supplies the circuit with constant current

b 5l 5L, 85101 3935 A

B. Supplies the circuit with constant emf

Al 450,08 dadls Body 450 ,eSN 85111 3955 B

C. Supplies the circuit with alternating current

A3 e Ly 43L,aSI1 8 51l 3935 .C

D. Supplies the circuit with variable emf

Bpaie 45L,aS dadls 8yas 450,450 851001 3933 .D

Q22: N identical resistors are connected in
parallel, each resistor has resistance R, which
of the following represent the equivalent
resistance of these resistors?

S doglio «$)lgdl de dlilato doglie N Cding :Q22
oig) 8Nl Aeglaall Jier L lae T R lgis
LL'.ILAjLE.AJ!

A. Req= N.R

C.Req= R/N

B. Req= N/R

D. Req= 1/(N.R)

Q23: What is the equivalent resistance of two
resistors 2 () and 6 Q, connected in parallel

60520 iniesliall 28 dasliall p L :Q23
Silol Aoy la) Lagliogl dic

A. Req=8.00

C.Req=3.00Q

B. Rég=1.50Q

D. Req=2.0Q

ax) o ol e




Q24 Two resistor (A,B) are connected in series,
resistor A having a very large resistance and a
resistor B having a very small resistance. The

equivalent resistance of this combination will
be

A A pslaall (Jlsdll (de (AB) Obosliall Juos :024
Tu> Bpduo doglie 4 B pgliall 5 luxr ddle daglin

ezl 1ig) &a8Kall dogliall O sSiiu

A. Greater than the resistance of resistor A

A pliedl daglie oo AST.A

B. Less than the resistance of resistor A

A p5liall doglis o0 siuol B

C. Greater than the resistance of resistor B

B plaall daglas o AST.C

D. Less than the resistance of resistor B

B pliall daslie cra yisel .D

Q25 Two resistor (AB) are connected in
parallel, resistor A having a very large
resistance and a resistor B having a very small
resistance. The equivalent resistance of this
combination will be

A f‘jLE.AJ! «Silgdl de (AB) Oleglaall Jusg :Q25
o> B pduo daslae dJ B ngix:J!j lu> ddle doglio 4

eaxd| i) A88a)1 dog il 039S .

A. Greater than the resistance of resistor A

A plaall daglas oo #ST.A

B. Less than the resistance of resistor A

A poliall doglie (o yiuol .B

C. Greater than the resistance of resistor B

B plaall daglae (o AST.C

D. Less than the resistance of resistor B

B poliall doglie cpo ,iuol D

Q26: An aluminum-wire of 1 mm diameter is
surrounded by a copper sheath of 1 mm
thickness. What is the resistance of 10 m of
this wire? (AL resistivity= 2.82x10% QO.m, Cu
resistivity = 1.72x10% Q.m)

oo dady blxe 1 mim b,k eguadl el :Q26
10 m oylase Jgb daglan o .1 mm aSlaw (il
= pouadW Licgdl daglaall)  Selll lia oy

(1.72x108 Q.m = sul>all ¢2.82x108 O.m

Copper

i" ~N— Aluminum

A.0.78 Q

C.0.025 Q

B.0.39 Q)

D.0.27 Q

Q27: Which of the following equivalents the
unit of the electric resistance?

S a5, eSl dnglaall Ll Bumg 350 o e 61:Q27

A AV

C. AV

B. ATV

D. V.A'1

ax| o ol e




027: ANichrome wire with length of 1.2 m and
1.0 mm radius is connected to 12 V battery as
shown in the figure, what is the ammeter
reading? (The resistivity of Nichrome is
108x108 Om)

1.2 m dsb 09, Sl 8obe (o Soinan Ellw :Q27
o ded! 358 Allay gm0 1.0 MM o,k iy
055 O G 2l « Sl 3 cnae 52 WS 12 V Lgid b
108x10°® Om g, Sl due gid| dngliall § fuel Belyd

1.2m
A. 29 A C.19A
B.21 A D.12 A

Q28: When a 125-V emf is placed across two
resistors in series, a current of 5.00 A is
present in each of the resistors. When the
same emf is placed across the same two
resistors in parallel, the current through the
emf is 25.0 A. What is the resistance of the

larger of the two resistors?

125 Wbylude dbL,gS dadly 548 (gudad Wic :Q28
O e oIl e milgamge (miaglis e Cgd
89l (galas Laie . olagliall (1o (5 (35.00 A oylan
e (pioglaall s e Lol 480L,gSI1 dad)
8sall pe Sl Hlall 8ud OB «Glgdl e laghuo s
doslia o .25.0 A ($9Lid (Hdseal)) &BL S dndll)

‘?L-;}ujwﬁﬁﬂ

A.21.3Q

C.2880

B.18.1 Q)

. 691 Q

Q29: What is the equivalent resistance of the

@ Al B30l B8KWI dogliall ded (p o 1029

circuit shown in the figure? ¢ Sl
R, = 2.00
A
>
110 V=~ 3
R, =3.00Q | Ry = 6.00 O
A.1LQ C.4.00Q
B.2.7C) B35, 34




Q30: What is.the potential drop through R5?

TRs polaall I wgzdhi@dogigll)lia e 2030

R;=2.000

— Vv

LoV —

Ry =3.000 R, = 60007

3

A.55V

C. 26N

B.38V

D.19V

Q31: What is the current through R2?

YR, f’jLE.A‘J! 3)@1)@1)1..1.5..0 L :Q30

Ry = 2000

Y

L1IOV =

Ry=3.000 R, =600 0]

3

A.12.6 A

G alddS A

B. 15.7 A

D.18.3 A

Q32: A battery has an internal resistance of
2.3 O, if this battery is connected to two
resistors (12Q and 6Q) connected in parallel,
acurrent of 1.5 A will flow in the circuit, what
is the emf of the battery?

CA-lAO_g 131 2.3 Q a1 lgiaglane a:b)LLDJ :Q32
e (Wseye (12 Q.and 6 Q) (meslies doyladl
Aol (1.5 A 0yldie (3U,4S 503851001 (§ panew (5)1 93l

plladl) &,S dxdlll 52

A.3.4V

C.6.0V

B.56V

D.9.5V

Q33: A 12.0 V battery with an internal
resistance R; = 4.00 Q is attached across an

external resistor of resistance R. Find the

lgaglaag 12.0V Ledlo (s gl 358 dyllay :Q33
d..'i.ajLE.a @Jt& ‘-‘!‘BLE.A @ :lej.a :Ri = 400 Q a;x.L%-LU!
o933 Dyl oSy @I (plaall 8)0a)1 daid uzgl <R

Caglaall
maximum power that can be delivered to the =
resistor?

A.3.6 W C.5.7W
Bl ey D.S.0W
9
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Q34: What is the equivalent resistance of the

resistors in the circuit shown in the figure?

@ Ligeodl 851U B38| dogliell dad p Lo :Q34
¢ sl

R, = 2.00 Q)

—

M

éRs =
6.00 2

A.12Q

€170

B.5.20Q

D.1.20Q

Q34: What is the dissipated power in R;?

TRy palaall (§ Bduall 8yudll luke Lo :Q34

R, = 40002

A AN

3
SR =200

V= 1500V -|-

Yyy

R3 =
6.00 ()

A.11W

C.35 W

B.2.3W

D.4.2 W

Q34: Three different light bulbs are connected
in series with a battery that delivers a constant
potential difference, Vemf. Which light bulb
has the highest brightness?

uLC M}p}n zl.ﬁj[.ﬁ.,o.}'l dalisee GpL,a.n a4M5 :Q34
Sl ol dgz Gy BN 393 Dyla ae (gl
Tle glau Y o] 9550w asbiaal

=

Venf

A. The bulb with the lowest resistance

s3] dagliall 93 Fluadl A

B. The bulb with the highest resistance

AV daglaall 93 7luansll B

C. The bulb with the highest current

2SI jlelhs Fluaall .C

D. All of them has the same brightness

Bl s g prooliaall prax D

ax| o ol e
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